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Apply the rule-of-thumb relating angle of bank and airspeed in a rate-one turn.

Choose the recommended action to resolve a learning problem.

Compare the angle of attack betwen the inner and outer wing of an aeroplane in a descending turn.
Demonstrate how to conduct a timed turn.

Explain the flight test performance standards for the en route portion of the navigation exercise.
Explain the procedure to change airspeed while maintaining a constant rate of descent.

Explain the recommended procedure for conducting an obstacle approach.

Explain why a heading indicator must be reset at frequent intervals.

Explain why the vertical fin is offset on a single-engine propeller driven aeroplane.

Interpret an attitude indicator and a turn and bank indicator.

N?me the disorienting effect caused by an abrupt head movement during a turn without outside visual
references. -
Predict the possible effect of making an approach in blackhole conditions.

Recall the A.P. guidelines concerning the consumption of alcohol.

Recall the time period prior to the expiry of an instructor rating that a renewal flight test may be
conducted.

Recognize the factors that impair night vision and ways to cope.

Calculate the effect of pressure change on indicated altitude.

- Calculate true altitude.

Choose the recommended action to resolve a learning problem.

Compare airspeeds used for different types of take-offs.

Compare the angle of attack betwen the inner and outer wing of an aeroplane in a descending turn.
Determine pressure altitude using an altimeter. |

Employ effective eye contact during ground instruction.

Employ visual aids effectively when presenting ground instruction.

Explain the design factors that affect the longitudinal stability of an aeroplane.

Explain the procedure to change airspeed while maintaining a constant rate of descent.
Identify recommended fault analysis practices when conducting in-flight instruction.
Identify the factors that would cause increased loading in a vertical gust.

Identify the instruments used to recover from an unusual attitude. ‘

Identify the learning factor of relationship when presenting instruction.

Identify the reason why ear and sinus pain may occur while climbing to altitude.

Name the disorienting effect caused by an abrupt head movement during a turn without outside visual

references. _
Recall the A.l.P. guidelines concerning the consumption of alcqhol.

Recognise the effect an alternate static sourse located inside an unpressurized aircraft will have on

pressure instruments. . '
Recognize when a student is using an escape mechanism. -

Calculate density altitude and true airspeed.

Calculate pressure altitude.

Calculate the manoeuvring speed of an aeroplane given the load factor and normal stall speed.
Demonstrate how to conduct a timed turn.

Explain how the location of the C of G affects aircraft stability.

Explain how to lean an engine for best power.

Explain the causes of wheelbarrowing.

Explain the flight test performance standards for the ground preparation of a cross-country flight.
Explain the relationship between weight and lift during a climb.

Identify the instruments that only use static pressure.

Identify the instruments used when recovering from unusual attitudes.
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Apply the rule-of-thumb relating angle of bank and airspeed in a rate-one turn.
Choose the recommended action to resolve a learning problem.

Compare the angle of attack betwen the inner and outer wing of an aeroplane in a descending turn.

Demonstrate how to conduct a timed turn.

Explain the flight test performance standards for the en route portion of the navigation exercise.
Explain the procedure to change airspeed while maintaining a constant rate of descent.

Explain the recommended procedure for conducting an obstacle approach.

Explain why a heading indicator must be reset at frequent intervals.

Explain why the vertical fin is offset on a single-engine propeller driven aeroplane.

Interpret an attitude indicator and a turn and bank indicator.

Name the disorienting effect caused by an abrupt head movement during a turn without outside visual

references.
Predict the possible effect of making an approach in blackhole conditions.

Recall the Al.P. guidelines concerning the consumption of alcohol.

Recall the time period prior to the expiry of an instructor rating that a renewal flight test may be
conducted.

Recognize the factors that impair night vision and ways to cope.

Calculate density altitude and true airspeed.

Calculate pressure altitude.
Calculate the manoeuvring speed of an aeroplane given the load factor and normal stall speed.

Demonstrate how to conduct a timed turn.

Explain how the location of the C of G affects aircraft stability.
Explain how to lean an engine for best power.

Explain the causes of wheelbarrowing.

Explain the flight test performance standards for the ground preparation of a cross-country flight.

Explain the relationship between weight and lift during a climb.

Identify the instruments that only use static pressure. '

Identify the instruments used when recovering from unusual attitudes.
Interpret a turn and bank indicator; relate angle of bank to rate .of t-urn.
Interpret the significance of the colour markings on an airpeed mc.ilcator.
Predict the indication of the turn and bank instrument during a spin.
Recognize the factors that impair night vision and ways to cope.

State the guidelines for taking hayfever medication.

J



Calculate the effect of pressure change on indicated altitude.

Calculate true altitude.

Choose the recommended action to resolve a learning problem.

Compare airspeeds used for different types of take-offs.

Compare the angle of attack betwen the inner and outer wing of an aeroplane in a descending turn.

Determine préssure altitude using an altimeter.

Employ effective eye contact during ground instruction.

Employ visual aids effectively when presenting ground instruction.

Explain the design factors that affect the longitudinal stability of an aeroplane. p
Explain the procedure to change airspeed while maintaining a constant rate of descent. ‘
Identify recommended fault analysis practices when conducting in-flight instruction.

Identify the factors that would cause increased loading in a vertical gust.

Identify the instruments used to recover from an unusual attitude.

Identify the learning factor of relationship when presenting instruction.

Identify the reason why ear and sinus pain may occur while climbing to altitude.

N?me the disorienting effect caused by an abrupt head movement during a turn without outside visual
references.
Recall the A.l.P. guidelines concerning the consumption of alcohol.

Reccgnise the effect an aiternaie static sourse located inside an unpressurized aircraft will have on
pressure instruments.
Recognize when a student is using an escape mechanism.



Corey Dyer
July 25, 1995
Class 4 Instructor Written Exam (AIRAF)

The Transport Canada exam was remarkably similar to the practice AIRAF exams

in the Culhane Instructor Rating: Written Test Book. I had T/C AIRAF # 2 which was, in
terms of difficulty somewhere between the first and second Culhane exam. A student
who is very comfortable with the matierial in the second exam should not find the T/C
exam much different. I would recommend that student complete all four exams in the
practice book. Below, I have listed some of the differences between the Transport and the

Culhane exams.

[a—

N o

10.
11.

Learning Factors: Questions where just like the Culhan.

Weight & Balance: There where a lot of weight and balance questions. One was a
simple "is this airplane loaded within W&B limitations?" Then there was a question
about what minimum weight would be required to move from one station to another
to move the C of G into limits.

Wake Turbulence: Two minutes after the passage of a large transport does the wake
turbulence a.) Dissipate Slowly b.) Rapidly c.) Stay at the level of the A/C.

Wake Turbulence: From what wind direction and speed will wake turbulence on a
runway be most hazardous? Answers: a.) Head wind b.) Cross wind c.) Quartering
Tail wind.

Take off Performance: 2 questions, one easy and one that I totally guessed on.
(Cessna type chart, although the format of the chart was slightly different from the
chart in the Culhane.)

Calculate True Altitude and True Airspeed.

Range & Endurance: One simple: When flying at the best Lift/Drag Ration you are
flying for which situation? Answer: Range. Then there was a question about the
determining where range and endurance fall on the power curve only. (Remember
the tangent from the origin to the power curve!)

There was only one question about the Exercise numbers, for example spins are
exercise 13.

In what condition does an A/C become airborne at the highest possible speed?

What effects the rate and angle of climb?

Wheel-barrowing: The Culhane book discusses wheel-barrowing as a result of high
approach speeds, but the T/C exam asked about the causes on take-off



Examination questions which are related to the following were answereda incoirecuy.

Apply the demonstration-performance method when presenting instruction.

. Calculate the time required to complete a specified procedure turn.

. Compare the effect of altitude on indicated and true stall speeds.

. Compare the sensitivity of different flight instruments during abrupt changes in pitch.

. Describe how lift/drag ratio is affected by a change in aspect ratio.

. Employ the learning factor of readiness when presenting instruction.

. Explain how an aeroplane turns.

. Explain the design factors that affect the longitudinal stability of an aeroplane.

. Explain the factors that determine the best rate of climb.

. Explain the procedure to change airspeed while maintaining a constant rate of descent.
. Identify maximum range and endurance airspeeds given a power available and power required graph.
. Identify the factors that affect the angle of attack at which an airfoil stalls.

. Identify the instruments used to recover from an unusual attitude.

. Interpret the signifigance of the colour markings on an airpeed indicator.

_ Name the disorienting effect caused by an abrupt head movement during a turn without outside visual
references.
. Predict the possible effect of making an approach in blackhole conditions.

_ Predict the visual illusions that may result during a low level turn in strong winds.
_ Recall the A.l.P. guidelines concerning the consumption of alcohol.
. Recognize the factors that impair night vision and ways to cope.
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